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Every cutset in a connected graph G
must contain at least one branch of
every spanning tree of G. 6

What is the difference between
spanning tree ?

What is the difference between
and Kruscal algorithm for finding
shortest spanning tree ?

Show that Kuratowski's second graph
is always nonplanar 1

What do you mean — shortest path?
ortest path of the following
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INFORMATION SYSTEM
Paper : 204
Pull Marks : 75
Pass Marks : 34
Time : Three hours.

The figures in the margin indicate
full marks for the questions.

Ansuwer any five questions.
3x5=15

What is a system? Distinguish between
Open and Close System.

What is groupware? Give some
Differentiate between Artificial
Intelligence and Expert System

What i the importance of feasibility

analysis ?

Contd.
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(e) What is the main difference between
strategic and tactical information ?

(@ What is a peural network ?

() What is a value system?. 2

(6 Write the impact of virtual office on
business steps around the world. 5

(@ Define Al Mention the arcas covercd
by AL 6

(@ Define BPR. Explain ree technique
(38 R's ) used for applying BPR to CBIS.
7

@ What is management information
system ? Explain different categories of

MiS. 5
(@ What do you mean by IRM ? 3
What is internet and intranct? Write

difference between internct and
intranet. 5

(b) What is a margin and how does it relatc
to competitive advantage. 4

(@ Explain LAN, WAN and E-mail. 6

Define ‘Data’ and “Information
Differentiate between data and
information with example. 4

Differentiate between MIS and DSS.
3

What is HRIS? Why managers use
HRIS? it

How information technology is used for
competitive advantage of a buéiness
firm?. 4

Explain the concept of office
automation. Name the different types
of office automation system. 5

Draw a DSS model to show the
functions of different components.
Explain briefly. 5

What is E-Commerce? What arc the
advantages and disadvantages of
E-Commerce. B

3 Write short notes on : (any three)

(@ Video Conferencing.
(b) AIS model

2SEMMCANCBCS) 4/D 3 Contd
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() Avirtual memory has a page size of 1K
words. There are cight pages and four
blocks. The associative memory page
table contains the (ollowing cnirics ¢

Page | Block
0wt

I 1

gy

610

Make a list of all virtual addresses (in

decimal) that will cause a page fault if
used by the CPU. 5

Total number of printed pages-4
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COMPUTER ORGANIZATION
Paper : 205
Ful Marks : 75
Pass Marks : 34
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer any five questions.

What is locality of reference ? What is the
importance of cache memory ? Explain the
use of locality of reference in cache memory
design. Bstablish a mathematical expression
for efficiency of cache memory. 15

Contd,
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(@ It is necessary to transfer 256 words
from a magnetic disk to a memory
section starting from address 1230. The
transfer is by means of DMA
(i Give the initial values that the CPU
must_ transfer (o the DMA
controller.

@ Give the Step-by-step account of
the actions taken during the input
of the first two words. 9

() Explain the differences between Big
Endian and Litlle Bndian assignments.
6

8. (@ How many times docs the control unit

refer (o memory when it fetches and

exceutes an indirect addressing mode

instruction if the instruction is

@ acomputational type requiring an
operand from memory.

(@ a branch type. 6

A virtual memory system has an

‘address space of 8K words, a memory

‘spacc of 4K words and page and block

of 1K words. The following page

ference changes occur during a given

interval —

20126140102357

mine the four pages that are

dent in main memory after cach page

change if the replacement

used in LRU. 9

6.

Describe the significance of WORD,
BLOCK and TAG used in cache memory.

‘mappings. 5

Explain the advantages of black set
assoclative mapping over direct and
assoclative mappings of cache memory
management. 10

Deseribe the responsibitics of MAR,
MDR, PC. ALU and Instruction Decoder
in single bus structure of Central
processing unit. 8

Why docs DMA have priority over the
CPU when both request a memory
transfer? Describe Address register
Word count register and Control
register of DMA controler @

(@) What is CAM? Describe the method,
that climinates the need of address to
access data from CAM. Explain the
‘Match Logic’ with proper diagram.

10
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OPTIMIZATION TECHNIQUES
& QUEUING THEORY-I

Paper : 201
Full Marks : 75
Pass Marks : 34

Time : Three hours

The figures in the margin indicate
full marks for the questions.

(Answer @. 1 and any five from the resi)
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3. Using the simplex method. find non-negative
values of Xy, %, and X, which maximis

2= x, + 4, +5x, subject 1o the constraints

3,46, 43 S22
420+ 3x; <14
and, 8xq+2e <14 10

ind (he optimal solution for the following
LPP (use simplex method)

Min Z=3X-2Y

Subject to
~2X+3Y <9
X -5V 220
X.¥=0 6
Usc penally method o solve (he following
Lpp -

Min Z=4x+3x, + X,
Subject (0 ;

X142 +4x, 212
{4311"4-7«.‘*.((28

ke 10
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4 o

x
the maximum of

Arrivals at a telephone booth are considercd

z-Gxesy {0 be Poisson, with an average time of 10
A ‘minutes between one arrival and next. The
Subject to:  5x+2y <20 length of a phone call is assumed (o be
x+24<10 distributed exponentially with mean 3
oyl minutes.

(@) What is the probability that a person
by sclviog s DusipiRIngS R arriving at the booth vill have to wait ?
A company has three plants A, B and C: () What s the average length of the queue
three warchouses X, Y and Z The availability * U time (o) tinc ?
at the plants and demand at the warchouses (@ The telephone department will install a

second booth when convinced that an
arrival would have to wait at lcast 3
o) and minutes for the phone. By how much
the flow of arrivals be increased in order

to justify the second booth ?
{ 2x3+4=10

. Write short notes on : (any two) 5x2=10
(@ Single server queuing modcl
() Branch and Bound Technique in PP

(@ Degenerate and Non degencrate
solution

(d) Application to LPP.

300




image4.jpeg
() Travelling salesman problem
(@ Hash functions
(@ Garbage collection

(o) Limitation of simple queue.
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DATA AND FILE STRUCTURE
Paper : 202
Pl Marks : 75
Pass Marks : 34
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer question No.1 and any three
from the rest.

154 3x10=30
(@) What are the reasons for memory leak ?

(b What do you mean — space complexity
and time complexity ?

() What are the differences between graph
and spanning trec ?

(@ How a two dimension array is
presented in memory ?
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What is B-tree ? Construct a B-trec of
degree 4 with the following valucs.

15628 111318207 9 21

23 24. 5
(@ Write a G+ programme (o fmplement
queue. 5

4. (@ Briefly explain Dijkrastra algorithm with
—~  suitable example, 6

(b). What is AVL trce? What arc (he
techniques used (o insert a nodc in a
AVL tree ? 6

(@ Bricfly describe Quick sort 3

5. (@ Write a Ce+ programme to implement
multiple_inheritance and multilevel
inheritance. 6

to implement
%

¢ memory.
2

5x3=15

Contd.
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0 Wi Aorescene o  digrapho

(@) What do you mean — degrec, chromatie
number and properly colored graph
Give example. 341

7. Wrie short notes on any three of

Tl numbr of printed pages-4
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COMBINATORICS AND GRAPH THEORY
vaper © 200
Pl Marks © 75
Pass Marks : 51
Time + Thrce hour

The figures in the margin indicate
Sull marks for the questions

Answer any five question
1. Solve the recurrence relation 2

(A Gy=ay=a, =20

) Gy =50y =40y 122 00 0

(0 Find the gene
sequence.

e} i uo

ing function of

Ly =1 for xo1





